H & 0l & AHS B Ml A

SN AIERIRIARIA
A AHZYRAZHI(AZZIAGA) (DI IIE
el JI=2 3 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
AE 2| ArH A 5,930,903 10,144,012 4,213,109
= 40,000
Jl 120,000
= 100,000
Ea 5,670,903
YA GHI(AlZ2e| A A) (DIEHDIE}) 72,116 60,602 11,514
J1I=288l 72,116 60,602 11,514
JI=23Hl 72,116 60,602 11,514
201 Ler23 | 44,248 31,438 12,810
01 At2t2ltl 44,248 31,438 12,810
Ogit=3ZH| 24,940
—2A2E JIZ2 ARES ¥
49,5002 x105*42 1,980
—fldedsE g 46,6403 <201+ 122 1,120
—HMAEE FU(EH)
315,000 x224x23] 1,260
—HMARE PU(EX)
20,0003 »6& K= 123 1,440
—HMARE PU(SAD] E8 R EH)
270,000 +82] 2,160
—EAN 22EE 7Y
90,000 55122 5,400
—XYPISEH & 7L
6,300,000& 6,300
— X 7Y 100,000& * 12 1,200
—X dE A==
20,0002 x175+ 122 4,080
O=gt| 8,000 x14H 74112 9,408
O2g+g(8i21d & U2 S4+Y)
250,000 x82H +33] 6,000
Oo=82s FY(32%) 300,000& *13H 3,900
202 04| 22,028 23,324 A1,2%6
01 =LHO LI 22,028 23,324 A1,296
ORANE2g Jl=gde=d ol
108,000 x13E « 12& 16,848
Oz20Hl(A3E &4 &)
74,0003 x14H 5L 5,180
203 =4l 5,840 5,840
02 32 JRHH 2= 1,040 1,040
OFRIRARFT(FZ1002I0HAT)
40,0002 x26H 1,040
M EA2HER=AH 4,800 4,800 0
ORN2ILRFT(F S 302! 0I5t)
400,000& 122 4,800
BIANEE 2R(ZELXANLY/NALTAI) 2,143,031 3,134,026 990,995




2A:

ANEZelAFE A

M ZBSANEE 22U (ELXSEINLY/KNASLZAI)
Chel: BZAE2 A2 EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
SSAEE FAI2e 2,143,031 3,134,026 A990,995
NS MEZ@ S22 1,205,176 1,976,001 AT70,915
101 eI t| 466,186 424,981 41,205
M IIRINZ2Z2XsSEs 466,186 424,981 41,205
ONSMEZA 2| 21F2Y
78,8802 x18H 28 x 102 397,556
ONSMERE LAY oI
78,8303 *5F 62U x9Z= 21,298
O4t=Ee = 397,556,000 *11% 43,732
OJI2tHl 22X OI=H]
200,0002 » 185 3,600
201 Ler2 | 51,350 49,550 1,800
01 At 22|l 16,600 17,800 A1,200
OgEt=2H| 13,000
—3& OlstEs SHEX 2
300,000& 123 3,600
—2& O3 &A MYDISEHM S5§ 2L
15,0002 * 105123 1,800
—Z2 B2ALDE 7Y
150,000« 12& 1,800
—3& OrlstEA dItiol AL EZ
150,000+ 12& 1,800
22N FAHA E=J| gxz K=
50,0003+ 12& 600
—=2 25 I A
100,000 *43| 400
—Z9 HOHERY 23 AT 2l x|
600,000 *5CH 3,000
O%E 22Xt ANEESZ 72|
200,0002 185 3,600
02 SE=29| 34,750 31,750 3,000
O3z £ HAl 550
—3EXE USXHAl 100, 0002 *1CH 100
-zEeIY NYTEE
450,000+ 1CH 450
OAIZ EHIR I 27,200
—S2Z2DIH RF
2,000&*2,000 £ 4,000
—3322DH 78|
100,000& 123 1,200
—HE 2 TFS SFANES a4
,000,000& *63| 12,000
~HEMHZR HiG2L B B
10,000,000& 10,000
OXtere| 7,000
—3EXE sFU 2,000& 2,000 £ 4,000
—S2XE Sl 3,000,000 *1CH 3,000




A2 e AR A

D BBANEE 2R (FEL XML /RALEAI)
D BBANE=ES =X EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
202 04l 1,800 1,800
01 2LHoIH 1,800 1,800
ONSMBZAST A2 LSEX Ot
20,0003 x2& =45 1,800
203 HR=AH] 1,440 1,440
03 A=A PR FZ| 1,440 1,440
OSSAE=E 22 F =4
20,0003 9 +83] 1,440
206 M=Hl 103,600 104,000 A400
01 MHZH| 103,600 104,000 2400
O=d E3JI7 & =A&d 85 7Y
2,000,000 %13 2,000
OHIZ U YHIAE S 2
1,000,000 *23] 2,000
OCOAE, &L, =5 S 7
1,000,000 #32] 3,000
OHIOIEZ 28 F¢
3,000,000 85 *32 72,000
OdintE2 2 A HIg & &4&, §H +
& 3,500,000 *23] 7,000
O3% =28 30138 3= 7Y
200,0002*40H 8,000
OHI0IEZ 2YiHE 2
40,0003 *240m 9,600
401 AIEHIX R0 531,600 1,394,320 N\B62,720
01 A28l 528,000 1,390,000 /862,000
ONSdEsE SSAE=E RAIEs
10,000, 0003 *54 50,000
OdEHA=R U3 £X At
100,000,000 * 14! 100,000
OdEAR 24 EXIAL
100,000,000 *14] 100,000
O3& W 2t &X 22,000,000 *14] 22,000
O2Z A= &% 22,000,000 %14 22,000
ongg =ele=Hg &I
22,000,000 * 14| 22,000
O3 U AIEE oHLie EX1 At
20,000,000 * 14 20,000
OFL0I0tY 24 HHIAIY
50,000,000& »14! 50,000
OJIE0tE dXt2 B2 23 At
22,000,000 * 14| 22,000
OF&0I0tE OFAR0 EXIBA
120,000,000 *14] 120,000
03 AIESTHYI 3,600 4,320 AT20
ONSUESH AIE= EHl AIZ20iHI
500,000, 000& *0.72% 3,600




oH
Rl
OF
uJ

EPY
c
X

S AEZRAL
D 22AAS
D 22AASE

X XH
(=R
£l

Sk
KD B = S S
m_ < K SRS S
D <
oo
8188
OO m
e s|s|s = 818|° 3
Sl<] —|—=" ol | od -
RE - “1 &
28838888
M2M5875m,w,m 8 8lglglg g 8
% | ™ = = - N N Sa & B m m m m sls s = S S
S L0 3 - "
2 SR 28 EI8I888 § BS8 % 8% 8 §
< - = S5 S NN
S = N
ST 535358 O
n — — — [E ) ) -
L T =2 oW o -
o o W o oU ol ot * % o W o
or oF o ol o % x P S ! o —
0 gg888g888 8 8 ® W S oo T 2 o W
) sSsssss8s8 8 s g m8 S|~ ® _w o S %
1 - 8 %_ H 2 g0~ | 2 w,ﬁmmw, = g 8358
= 5 —_ & |6 = g Dgg
u_l _n.u,_m mn e} o OF al ~ m mw_.% o“_om
£3 & Rl RO | oo W -
. 3l s a |V 5 & S |m 3| o % o
= Iy S R 00 oH <F L of S =
= T = TS |5 1 b @_ - m U R0 -
o =N u n X zn — — —
L) ur ~ _ o :_ kr i = < s | = nxo o < xR0
oF R N S~ = THl o = = ) R0 = b N o) = g
i) _ | R oo Ho < NN s D fral _ o e S £l ol Y g5 00 3J
o DD 40 FWOR g ROy OO = M ° M o S 4 I
.U 5 oo o0 R’ X 7 X s ls woom |2 R Sa m S A4 om
E KE | oK & = o] = H KO D S D Ao ol | = _ o) b o o i =N
U w_ @ K R RIS S0 8 R %0 mlm M= oS muo a == 5 D < Yo = %G b = Pt
o B R SE5RASSs = BN ol W o R |30 0 T ni oMo OOk <F <k
. = [ R B <y mlzlM s & = n arlod |/ kA oo p o o
gz © S M g |an|R0 FO o (MET I aud of 4 A4 R 3
X F o @) O pad | = X <UD fur = R0 RO 0 - 5 <
0 O i 1 I go A0 MR R W
I+ <SS @) = |ol|=< ol | _ Ao RO | RO 70
W< 8 Bgls © N O s
< eV S
R0




2A:

|/\—|_T)_|»E’|}\|.O-I A

M DTALES Bo(RELXHNL/XHLETAI)
&t SSAEE RA2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—EAdsd dojerd 2|t S|
250,000 %122 3,000
—dadsdd AMEE A S22
1,000,000 %02 9,000
401 AIEHIZ SR OHYI 4,000 60,000 /56,000
01 Al&HI 4,000 60,000 256,000
OAIS ANEE FIIHEEE E9H|
2,000,000& *22 4,000
TELEINEE FA2e 236,969 193,745 43,224
101 @124H| 63,830 62,085 1,745
M IRINZZENSE 63,830 62,085 1,745
O=&Uel tﬂ/\lé(g—%)%al gy
78,8803 x3%H 27 L +0H 57,504
(@ZIN L-=y= Y= 57,504,000 *11% 6,326
201 2egr=3| 49,260 60,660 A11,400
01 At22t2ltl 2,700 2,700 0
ER=lest= ]l 2,700
—TECR FHIY B MYDIETH 2
= 3¢ 50,0002+ 122 600
—Slicl sS4 LSS 2 EFA
-8 75,0003 * 122 900
—E0el FH3E 2el 228 7Y
100,000& «12& 1,200
2 35234l 46,560 57,960 211,400
Os&82= € MA 37,700
—E0el d&AxE JIIRks
800,000& * 122 9,600
—7E0el 24+ dJIe=s
800,000 * 122 9,600
—2E0el FXE J)IRs
700,000 * 122 8,400
—7 S0l SSHEd &S
700,000& * 128 8,400
—7Elel SS3EL otk 22
100,000& «12& 1,200
—Elicl sS4 ot FA4H|
500,000 12 500
OAI2 &= X 8,860
—T80 dJjetd 2| S|
280,000 * 122 3,360
-8 & FHISH FA2+
1,000,000 *43] 4,000
—7E0ld S el
1,500,000& %12 1,500
206 M=l 1,000 1,000
01 M= HI 1,000 1,000




2A:
PSR
ool

ANEZelAFE A
SSAE=E 2l

SSAE=E2 RAH

=0
0

Al

bl

EYX AL /XA
tel

2 - IE!
SN - BB SRI(BIH) - NISAY - BES O]t e HlRE2
OFE0e FHSA AlEE 22l A7
1,000,000& 1,000
401 AIEHIZ 2018 122,879 70,000 52,879
01 AlEHI 122,000 70,000 52,000
OREliel He ==& 4X SA
20,000,000 14 20,000
O7RE0e] &2 d3 FHI SA
50,000,000 * 14! 50,000
O=78liel ZZXZLAME
40,000,000 14! 40,000
O7ECIR HIINEEY 8
6,000,000 *x23| 12,000
03 AIE 2 CHHI 879 0 879
O7RE0el AEEHIAIE AlZ 201t
122,000,000&*0.72% 879
SEEsME2 |AlZel 207,828 299,654 A91,826
101 el t| 64,428 62,854 1,574
M IIZtHI22 S E 64,428 62,854 1,574
Ood 2= A2t QIfY
78,8802 x1Z 272 » 123 25,558
OogRsHS2 222y =Y
78,8303 x1Z 27U+ 12& 25,558
Ood=stisa 222 E2|
115,440 x 1B +524 x 123 6,927
O4EE= 58,043,000 *11% 6,385
201 L2 | 98,400 131,800 33,400
01 At 22|l 10,800 22,800 212,000
Oget=ZH| 10,800
—QHRINE2 2E MRES 2L
100,000& *12& 1,200
—old2stisa 24 2elAR2S 7Y
200,000 123 2,400
—oEEsNsS FLAES Y
300,000& =123 3,600
—F4 ¥ BIIBII| S YR2
300,000& 123 3,600
02 33=24H| 87,600 109,000 A21,400
02222 & HA 39,600
—OJEEIANFZ &I & otk 2=
2,500,000 =128 30,000
—EE3HEL TAIARS
800,000& 123 9,600
OAId&EH| FXIdI 48,000
—OJEE3NF2 2otAH|l S|
300,000& =123 3,600
—OlH 2N MI|ptM2] U 29
Hl 700,000& =123 8,400




2A:

ANEZelAFE A

¥ SSANES 2A(RELNGAMNL/XALEAI)
Rl SSAE=E =2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—olgessa ~9E Ug 8o
300,000 * 122 3,600
— g EHE2 s 88 S|
450,000 123 5,400
— Qg2 HFZ LS ESA|
600,000 62 3,600
—EESH 2 H=X HA E9H|
1,300,000 *23] 2,600
—dk, S, SEFHl K2
400,000 22 800
—&JI, JIHEHl !Xl
1,000,000 22 2,000
—ARZAIE 2lFd
4,500,000 22 9,000
—H=&Hl =2l =48l
4,500,000 22 9,000
401 AIEHIZ SR 0HYI 40,000 40,000
01 Al&HI 40,000 40,000
Oog =22 S2t 2|22 A
40,000,000& *14] 40,000
405 AHatE = 5,000 105,000 100,000
01 MMM ESFSHI 5,000 105,000 100,000
O2g=2tHEd AIRSHIE 7
5,000,000& 5,000
g - FEHESEERSE FA2 323,858 312,376 11,482
101 ©1AH| 56,738 55,188 1,550
04 JIZtN2Z2XNSE+ 56,738 55,188 1,550
0oy - REBH2ER B2 ARy
78,8803 x2H 27 L+ 12 51,115
@ZIN oh=¥=3 51,115,000& *11% 5,623
201 er2 3| 57,720 62,540 4,820
01 AtR2telHl 5,040 5,040 0
Odgt+=H| 5,040
—oly . SUTHSSH BUARE Y
50,0003 #2012 x 122 1,200
—oy - PUDMSEE MYJ| ZRHES
¢ 100,0002 #2JH 2+ 123 2,400
—oE  PUDESSH JMUs SR
30,0003 20 A+ 122 720
—olg - SUTLSSH QHY ABR
30,000 »20H A+ 12 720
2 35244l 52,680 57,500 4,820
O=32=  HAl 31,800
—oly THLSH MR
800,000 * 12 9,600
~2Y TH2ET @23
800,000& * 122 9,600




2A:

|/\—|_T)_|»E’|}\|.O-I A

M DTALES Bo(RELXHNL/XHLETAI)
&t SSAEE RA2 EER=E)
SA - BB - S(3H) - MRAY - BES Ol &b ot e MimE=E)
—ol T8 ZHREH 4 545Rs
400,000& #2002~ x12&8 9,600
—oY  PYDESSH HsiE HAY
600,000 x50 A~ 3,000
OAIEEH|RAIH] 20,880
—oY  PUDLESSH LOAHALY B
AH| 220,000 x204 A+ 122 5,280
—olg  PUDLREX MI|HN BN
S| 250,000 x20) A+ 122 6,000
—oY - HUBMSEH AL 22 U HY)
1,200,000& ¥4 3| x20H A~ 9,600
202 04| 2,400 1,280 1,120
01 2L Y| 2,400 1,280 1,120
003 - PYBESSH YL FXOY|
20,0002 x2% x50 2,400
206 =8| 2,000 2,000
01 THZHI 2,000 2,000
0oy - 22BESSE AMES 22 AN F
el 1,000,000 %204 A~ 2,000
401 AlEHIZL L2 C0HY] 205,000 191,368 13,632
01 Al&HI 205,000 190,000 15,000
OSHE2SE H)|ItNEH 29
2,500,000& 23] 5,000
O ZBE2=Z QXKL SXEM WBHZA
200,000,000& *1A! 200,000
2ol MNE (2L 2E/25H0=) 1,025,683 2,497,344 A 1,471,661
= 40,000
J| 120,000
= 865,683
023132 29 1,025,683 2,497,344 A 1,471,661
= 40,000
J| 120,000
= 865,683
TZIE3I3| 2 AIEE SA2el 277,050 1,644,109 A 1,367,059
101 2124d| 52,010 50,589 1,421
M JIRHHIZ2ENSEs 52,010 50,589 1,421
O20EZ53| 2 HAZe] IF
78,830 x2H x27L x 11 46,855
OAEE = 46,855,000/ x11% 5,155
201 LBr2Ab| 151,600 110,200 41,400
01 AFR22t2ldl 10,900 10,900 0
OYbt=ZH| 10,900
—20E35E AIREE 2L
100,000& * 105 1,000




SA AEZE A A
3. sz ds(2sL2Z/280=)
thel: 2LIZstsl2 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—ZQEste2 HAES Y
100,000& * 12 1,200
-0 SENSFE 7L
15,0002 158+ 122 2,700
—z02ste 2t SHEA YEH 7Y
250,000 * 122 3,000
—EaI| W RIIED| ARE
250,000 x 122 3,000
02 S3=gHl 140,700 99,300 41,400
Os&sR= € MA 93,800
—22IE3te|2 MIIAlIE FIIZ A
800,000 12 800
—2012352 &R
7,500,000& ~12& 90,000
—ZUEsted dotrr 2=
150,000& 122 1,800
—ZREste2 BHNERES(AMESE)
100,000 *22] 200
—ZQEstel2 otk A
1,000,000 %12 1,000
OAIE2E =X 46,900
—=22Eae|2 2tEH] ESH|
300,000 * 122 3,600
—z0Estel2 dojerd el S|
500,000& 122 6,000
—ZUEse 2 Nex Fa S
1,800,000 *23] 3,600
—c 2 2etsl 2 Y S|
500,000 52 2,500
—Z0Esel 2 AYEH (i ESHI
300,000& * 122 3,600
—AISE E AHNdE8E SHH|
2,000,000 *22] 4,000
—s3J| AHBH EFH|
300,000 * 122 3,600
—ZREE 2 ARE AE Axd
5,000,000& 42| 20,000
206 M=l 2,000 1,000 1,000
01 MZH| 2,000 1,000 1,000
Ozplzstsla 240/5 & Td> |2
el 500,000 42| 2,000
401 AIEHIZ SR OHYI 49,440 1,324,320 1,274,880
01 Al&HI 48,000 1,320,000 A1,272,000
OxelZ23talat SAE S4 LS A
22,000,000 *14| 22,000
Ozt =3stal& Xlotd =& SA
22,000,000& * 14 22,000




2A:

3. sz ds(2sL2Z/280=)
thel: 2LIZstsl2 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OAISE0 HE AlE= SN EH 9
] 2,000,000 *23] 4,000
03 AIZSTHYI 1,440 4,320 2,880
Oz 22ztalat AIdF 2l AIZFUsI
200,000,000 0.72% 1,440
405 KHaHE SH 22,000 158,000 136,000
01 AL ESF=HI 22,000 168,000 136,000
Oa3ojd HIS(HO0IE & oK) 7
22,000,000 22,000
T 25tel 2 SA2c 488,633 588,235 299,602
101 @124H| 13,883 13,545 338
MU IIRIMZENSES 13,883 13,545 338
OB EAE 23 o=l
78,8803 »2H+83|* 112 13,883
201 et 3| 460,390 572,530 A112,140
01 AtR2tc|bI 38,390 39,390 21,000
Oget=ZH] 38,390
~DOIE 2OEY A2E 7Y
50,0002 25512 1,250
—ZOIY RUSH 228 2Y
150,0002x105+*13] 1,500
-39 RUIIA 228 7Y
150,000& %105 1,500
-39 M¥d= s 1,500,000 1,500
-3¢ SES(HEX) M=
6002 *1,0000H* 122 7,200
-3 S22(RIEH) M
6003 +1,0000H* 123 7,200
-3¢ SES(ZAH) MH
2,5002 x2000H 123 6,000
-3¢ g22(8=2) WA
70,0002 *100H* 122 8,400
—=% 228401 M
40,0002 «80H* 122 3,840
2 S5=2g4l 62,000 53,140 8,860
O=32= # HAl 6,800
—(AhE=20l3 218s] A3l
4,000,000& *12] 4,000
—(AhEt=208 218 F23 X3
1,000,0002 %12 1,000
~ZUSTAHIA +42
150,000& «12& 1,800
OAlE &I Xl 38,200
—S%Y SHITH 82 FAEHY
6,000&*1,100m" 6,600
—39% SHOIX FA&el E9
300,000 * 122 3,600




od
i’
oF
uJ

=
-
g
C|
)

S8 e|e S8 e e < S8 8 8
S | S S S
.x;._w = oo I R
E
E=)
S 3|3 e S S S S 38 S
S == S S S S S S
m N S S S 8 &8 8
g
KIS
S 8 8 S8 8 8 S(33 8138|8 S 818 88|18 8 8|8 8 S8 8 8|18 8 8|18 8 8|8 8 8 8
©x o d S S o o|=lm =|dld & S|g s 3g|g3g3oe s § S 3(g3o S(agSS|lgs S S
S 8T & =g gldd dldld - S8 gglegglgg 88889 R|8ee|88 8¢
al
<
S
ST T SN T Y fir
e T B i S ) ol 5 W o ol
N ¥ 9 * & {? 3 ! S k% B
oir e RS Q >3
X |3 = S S D g ] s > = kg 5
TR RS 8 8 S %% S 8 S . 3l _m =] 8
O i o NS = > 3 2
o |5 © & ) RIS 8
ol |m 3 o+ a3 o
< | H = OF =
o jor = + R T oa s ~ = = oa
X |3 <k uA_ Ok &l = i) 2 Ho iof _D..rA_ o =<
. . - - [0 3 ~ <+ 0D ol BJ
<] XU m = oK ) 0 T &l Bl )
= | < KO0 g i R o | o = >
@ |lm oo H o ~N K o ¥R = Y a2 i
= | t 3 = o iy ur- ot o M 0O y il
F |z 4 383 5§ = I D A TR R _ _ Wy & _ L
o = . o K D3 I == R S = - T 5 - 5 & 7
. ROOROR R g E= R N ) TR = 30 g il o 80 B A
wl mm mm mm mm 5 ¥z 55 51¢ s = [P o B ::ﬂ mm 1 o w m{ i
: [m} =z K o= Fdll=d] _ ol = el oJ =
O N N N = N L R e L I EL o 2 % | o% = 2w
- © 89 |yl @ |8la @ © |m = g © ~ 5 g O
Ho eV o} N
I+ rr 0H




SN AIERIRIARIA
3. sz ds(2sL2Z/280=)
. ZeIZss 2 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| 1] = 20,000
EEABIEXZ 2L (AZIEX/AIEI 2 XL 815,741 795,189 20,552
sSXZz1d 29 277,160 285,160 28,000
24E SAE2T0H 2 277,160 285,160 28,000
201 er23| 272,560 272,560 0
01 At2teltl 264,560 264,560 0
O=xBIZ2IY 2Y 2279
300,000 x 12 3,600
OsSX2o20d 2 2A =&
45,0002 <2A[ 2tx482H x5+ 12 259,200
O=gHt| 8,000&x2&*1041+11& 1,760
03 Ar=EHI 8,000 8,000 0
OS2Iy AFUH|
8,000,000& *12] 8,000
202 048l 3,240 3,240
01 2L A 3,240 3,240
O AR=X2 28 2= O]
20,0002 +x2& »813] 3,240
203 g4l 360 360
03 A=A =] 360 360
OZeAeEX2 2208 28 YRFH
20,0002 x3&*62] 360
301 LEtE N = 1,000 1,000
11 #AIAMHIXIZ S 1,000 1,000
OsN2Z20d 4T 24
1,000,000& %12 1,000
SEARISX2 AIEE 2tel 538,581 510,029 28,552
SEARISX2 AIEE 22 538,581 510,029 28,552
101 e124d| 31,521 32,969 1,448
M ORINZZ2NSE S 31,521 32,969 A1,448
OSEAMESEX 2 2l IR (HA2el)
78,880 x 1 *30& * 122 28,397
@ZIN L==h= Y= 28,397,000& *11% 3,124
201 er2 3| 473,060 477,060 24,000
01 AtR2t2|HI 12,360 12,360 0
Odgt==d| 12,360
—SEAMEXZ M) SEHSE S 7
= 15,0003 *100H= 123 1,800
— SIS SEX, HEH S 7L
250,000 * 122 3,000
—SEARISAZ )| Altg
40,0002 *6LH* 12 2,880
—SEARI=X2 Hld X =
30,000 =8LH* 122 2,880




SA AEZE A A
M ZEAS=NT SH(ASI=T/AE =1L
Rl SEAEIFX2 AIEAE 2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—SEARISXZ S8 gtz
50,0002 +3CH* 12 1,800
02 S3=gHl 460,700 464,700 4,000
Os&k= € MA 258,300
—SEASA2, [UMSHE &I €
ot K= 21,500,000& «12& 258,000
—EANM 2EE UL
300,000 %13 300
Og =] 144,000
—SEARISXZ 2 FUMSHE SAID
A RS 12,000,000& «12& 144,000
OAIE&H| SXldl 58,400
— SRR SX2 =X HA E9H|
1,000,000 *23] 2,000
—SEASA2 2-EH| AIAE SS9
500,000& * 122 6,000
~ZEAIE =R W oy
500,000& *62] 3,000
—SEASA2 228 (™ S|
350,000 x 122 4,200
—SEARISAZ s2II8E 9|
200,000& * 122 2,400
—SeARISXI2 CIVAIZE |22
200,000 122 2,400
— SRR SXI2 ALAEE KAI2
500,000 62 3,000
—SEARISAZ A2 d RAl2
200,000& *102] 2,000
—SeARISXZ MEHRA X2
200,000& x 122 2,400
—SEARISA2 HA, SU, S =
Al2tel 200,000 %102 2,000
—TEAMEISXZ FI|, JIHEH SR
500,000& *102] 5,000
—SEARSXZ A2 Aldsd
2.,000,000& 123 24,000
401 AlEHIZ 2018 24,000 0 24,000
01 Al&H| 24,000 0 24,000
OSSAt2ISX2 AR T A
20,000,000 * 14 20,000
EAEIEX 2 FIIHEEE AHI(AMS
&) 2,000,000& *22] 4,000
405 AHAHE S 10,000 0 10,000
01 AL =S F=H 10,000 0 10,000
OSeAtel=N2 =8I W
250,000 *40H 10,000
SUMSUH 22 (2L 2Z/H=) 1,214,351 518,844 695,507




2A:

ANEZelAFE A

. FONSHH 2 (SSL2Z/HR)
el MSEZ20E 29 (SH9 H2)
SA - B GR(31) - HIRAY - BES il &k e HlmS2
MEEZzd 29 871,039 395,978 475,061
AE MSAE 29 871,039 395,978 475,061
01 2l24dl 843,839 378,778 465,061
M IIZtH22 S E 843,839 378,778 465,061
ORORSHE HAIZ2| 015l
78,8802 x4 Z 272U * 12 102,229
O=0M=HH =8 & A 2A JIE2S
78,8802 x 12B +27 L+ 123 306,686
Os23CUMSHEH tHtIAT JIZtHZ
ZA 0123 78,8803 x3F +27 L x 122 76,672
O=LH=SHMEH S22
118,320 7 H 5« 123 49,695
O=CMSHE A ot 2te =S
43,0002 * 128 24+ 123 148,608
O=UNSHH I L&
13,0003 *12H x 17123 31,824
O=ZLHSHEH OtR0t28] ZAlsE
70,0002 1B #1724 123 14,280
O=CMSHEH JI2ZHNZ2X &&=
3,000,000& *12H 36,000
O4H2E = 682,223,000 *11% 75,045
O+BUAF 2BE #E 7Y
350,000 x8H 2,800
201 et | 27,200 17,200 10,000
01 At 22|l 27,200 17,200 10,000
OgEt=ZH| 27,200
—322F ot EEZ2 M
1,000,000 *22] x2JH 2~ 4,000
—=SAP| & ZElH ARE Y
100,000 123 x2JH & 2,400
—IRIRIZER §F 9|2l Lo
200,000 2H *43] 1,600
—I0HSHEH 2F ARES 7L
100,000 12 201 2= 2,400
—SYROINSHE 25T +H2l AF 2
2 700,000 x 123 * 10 & 8,400
—JUSEADIYSME SBF SH2l %
= 7 700,000 x 12«10 & 8,400
=0N=FHE AE2 A2 343,312 122,866 220,446
2VIXEEH AIEE2 g2l 343,312 122,866 220,446
201 LBr23| 178,532 79,626 98,906
01 AtR222ltl 44,012 17,616 26,39%
Oger=2| 21,520
—=30NSHH 224 Y SFEA ARE
- 200,000 123 x20H & 4,800
—=0HS=4HE M0 SHMSE 7Y
100,000& * 123 *2JH & 2,400




2A:

ANEZelAFE A

Mz 20IHISHEH 29 (23222 /HS)
Siol: ZOIMSME A8 X2 (crol: m2)
K B3 . S2(31H) - HISAIY - B2 Ofl aro e HDE2
—SOMSHE EAE 2507 25 7Y
1,000,000 «23| *2JH A~ 4,000
—3I&A HIH X2
30,0002 x6CH*12& 2,160
—8A® BIIFFI| X2
40,000& x2CH* 12 960
—20IHSHE B XS
50,000& *4CH* 122 x200 2~ 4,800
—HAT OIEY SMAER
100,000 * 122 x2JH A 2,400
O=0HFHEH 29 E2X S|
8,000& *2Y #2A! %1282 *2H A 8,192
OREI N SHI(AI2AIE AR S 2L
s ) 400,000 x2H 800
O2ESsSE20MFHE 222 "3
9,500,000 9,500
O =S=2Z20INSFHE Ot ¥ EE2Z M
AHH| 4,000,000 4,000
02 S32ZH| 134,520 62,010 72,510
OAlEEH|S XY 134,520
—IPAND BHARY 282
50,0002 %13 %2l A 100
—O|HAIZDIHFHE &I|otM2e| HE 2
AH| 800,000 128 9,600
—OlASE=20INFME &I|ot& 22| O
i Z2AH| 800,000 12 9,600
—=20IHSHE LA S|
500,000 +63| *2IH 2 6,000
—20IHFHE ME=X HEA 29H|
1,200,000& *23| x20H A~ 4,800
—Z20IYSHE B2 SAES 2HH|
380,000 x 122 «2JH A 9,120
—=20IHSHE F22/AAE SN2
S| 250,000 x 12«2l A 6,000
—=20IHFHEH S| SAES> E2H|
250,000 x 128 *2JH A~ 6,000
LT Y AN MHISKIZL
250,000 * 195200 2~ 9,500
—olxEZ20IHEHH J|HA SXEZL
800,000 128 9,600
—HERIARYKME JIHA SX24
600,000& 128 7,200
—SYROINSHE 25T SR 22
700,000+ 12& 8,400
—OHASE=20INFHEH =HE SFAE+
700,000 128 8,400
—O|HI20IHSHEH AT SXES
800,000& 128 9,600




2A:

ANEZelAFE A

M FARHSHE 2 (2L 2AE/H=)
Ci9l: RWHFME ALS SXz2 (Shol: % 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= R =y TPy
800,000 * 122 9,600
— Y SHIACMSHE HSZAL 22l
SRl 1,000,000 *62 6,000
—YROIMSHE +HHsa FY)
1,500,000 %52 7,500
—gSEUMSHEH =233EH &
] 1,500,000 %53 7,500
202 04dl 7,280 3,240 4,040
01 2L AL 7,280 3,240 4,040
O=0NSME 2R =AY
20,0002 x2S +81 L *20H A 6,480
OZA0HI(AEAIE 2Tt S 1T
Alg) 50, 00021 +224x82! 800
401 AIEHIL L] 105,000 40,000 65,000
01 A&l 105,000 40,000 65,000
OBRDSHE! P DUBA
95,000,000 * 14 95,000
O(9g . 2dgs:)=eHsdd ZI1edE
2 89 4,000,00024 14} 4,000
OOIYELRVHSHE CLHETIAIAL 2
2 X 2,000,000 «3CH 6,000
405 AtatE = 52,500 52,500
01 It =S F=H 52,500 52,500
O g sSEAUMSHE =T2RIEAI| 2
=] 30,000, 0002 = 1CH 30,000
O2gdsSE=RAUMSHE 4E52D 7
2,500,000 *1CH 2,500
O2AdSERUNMSUE =& HEZAHFII
= 3,500,000 *1CH 3,500
OB SERUMFUE =S & PHAIF
=] 2,500, 00094*1EH 2,500
O gdSE=RAUMSHE =8 &FIHAS
I 2 2,500,000 *1CH 2,500
O2dSE=RUMSHE SAMEI 2
1,000,000 +1CH 1,000
OOIYELRVHKHE +AT 2CEE))|
-8 1,000,000 *1CH 1,000
OdSSIALUMSHE AMRA IIEHE (A
ED1258)7 L 9,500,000& 9,500
23ty SY(2atl2/24) 659,981 3,138,007 A2,478,026
=S 100,000
s 559,981
Zstity |4 659,981 3,138,007 A2,478,026
== 100,000
[Ea 559,981
o|gegtEat 2el 459,981 428,287 31,694




SA: A2 AIE A

Hu: 25AY S5(2HUBY/RT)

o2l 2shaty |4 (SH &)
SA - B . E9Y(3H) - MISAIY - BAS Ofl e dus HD=2
- == - HES = Ofl &t S2

101 Q124d| 106,527 103,733 2,79
04 JItHNI22sEE 106,527 103,733 2,7%
Oolgstea Has 2EBE 0I21Y|
78,880& 1P +x27 U6 12,779
Oo|HEtS2 Alglns SHE X Q1|
78,880& *1H+x27 U x6E 12,779
Oo|yer=Sa HAF 22| 12|
78,830 x1H 27U« 128 25,558
Ooyer=a 02 22l 2124t]
78,880& 1 #2722 x 102 21,298
Oolgsien SHX 29 U #IIY| oA
u 78,830& x5 H 10U 62 23,664
@ 94,984,000 *11% 10,449
201 LBt Ab| 296,694 265,694 31,000
01 AFR2t2lHl 72,600 72,600 0
Ogbt4=ZY| 67,480
—gr2R gNA F7 7Y U A
100,000 #43| 400
—gi=22 EEA HE € AMuE 07 A
ESy 2,000 %5, 0007H 10,000
—822 MAIGHE 22 MHE
5002 %5, 00001 23] 5,000
SAlA KA - K2 CHIINE & S88 &
= HE 1,000,000 & *5JH A~ 5,000
—SEAE U PRYSHNY B2 40 R
&t 50,0002 x40l * 183 3,600
—S2d U REaFGFAA 2 ZTAH A
ey 1,000& *20052 % 183 3,600
—922 29 ADE 7Y
80,0003 x2&+ 128 1,920
—SAD| & T2y ARE R
300,000 *53] 1,500
—AEARE 2A2SE 2L
500,000& *4= 2,000
—gt=2 sZ A &2 #
50,0002 *200H 1,000
—U2 = QDS 2| Y ADE 7Y
250,0002 x2S #23| 1,000
—ASTAIY EMBRS Pl
10,0002 15Jx 128 1,800
—ASFAY YIS Y
5,000& *4Z=+ 10070 2,000
—23 U= ¥ 22HGAYE WD 2
60,0003 x25 %123 1,440
~BIET Y YEH 7L
80,000 x25+ 122 1,920
—MgJ| SHAHNSE 7L
15,0002 x 100K+ 12& 1,800




0H
i’
oF
uJ

0
£l

-

=)
Bl
ok

1

O
S
= OF o
3 &1 8D
FIEdEd
o iy
ZOHOH

= u
=R
=E

-

31,000

n0
Klo
&
D
g
LH 3T 2
2
RIS
8 8 8 8 8 8 8 88
S e} 8 S S g 3 X ©
S 88 85 E 8 58 B8 83258 5 Y8 8B BER B FEE B F
. 288 ig 9§ @
z 0
<
=3
oy O = = <4 <4 ol o ol ot — — ——
2 2 ¢ ¥ 5 75 5 % g g & R R I O R N T
® w ow ® 2 %Y 5 F 30 0 XX x5 3 Fooox X ¥ P
] S 8 g 8 ¥ ¥ ©° 9 % i A TR 1 W w oma oma ® ® W W AR
IS EEEE ARt RN NI
Q - - -
ol R s g 8 8 2 8 % g¥g ~8 & B8BRE B §8 g ., 8
a0 fa S48 &8 ¢~ ¥8g S oo O 5 S 43
< |t - = am 4 EJ S S = 1_M
k |y o 5 ™ @ K Wow s Al W o
X | & _ @ - =z A o o m = & W
Sl » 3w 3 Y owmowm ud h 0 X 5 = GO PR
=T = 2 A — mw <4 ) = OF m = <J el - . J ol T =
i = g 0~ Ko ® D i < = = =< D 2Dg ool
g 7 m 2 = ~ o o all = M > _w ow oz z @ @ = &
faim o) 10 op = = = o 3 5 nd < < & 3
= |uw i v = MW LU = =z =2 0° w 5o ~ A0 A0 s 35 F 3
o0 - A oo 2 30 3 = I T T T L = o
ool o= ox o ow ow w KT 0H Cl _srg s 5 © N TR NI L
Yo m oM oW oW of <+ A~ W 0w ) T iwy = ¥ I
8 B8 % 2 M F & ¥E oW o =bdBD R Ry 5 nir 3 SEE b
n W 0 w8 roa W i om 24 LA o
RO 1 ! _ ! _ _ ! Lo _zm Toh i m_w R N R T L L
= o) 8 B _ _ Lo _ B |
o
I+




0
£l

-

0
51
ok
]
1[3]
A%

od
i’
oF
uJ

0 X0
I

= OF o
0 &1 3l
<<
o iy
ZOHOH

=M
X ZH
[ R}

=aak

-

no
Klo
El
B
S 2|3 S8 S
S <D SR =
0 < | < -
H3r
uiked
RIS
8 8 S m N S~ 8 S 8 S 8 S 8 8 S S 8 S138|3 2 8 183 ISHRS
o ([} O Yo} [ee] o O O O oo O o O o (] (@) o (] o0 | O [e0) (0] O N~ | M~ N~ | O
ol o ™ ™ N ™ SN o © — m ol © To) @ ™ ™ o< ol — Te)
Wﬂ
<
t=
<[ <[ <l ol ofl ol o} o] o oy o} o} oy oy o] oy oy ORl o}
R X < o N N &8 < v & X & " o @ ¥
o o o & IR ! w2 g A o o o [ & al 80
w (8, 8 8 5 5 58 88xf B8 B & B B g 5 3
< 2 > > © =) A "o
$|. 55568 § 5 § 8 8°wg E8 B £ 8 § g : 2
. < ™ — o) N N m — ™ 50 < _A_m
el Ok ol 0t Kt
- _ S 80 ok
=< ~ 3 = 31
I+ <k = )
= = EUN 30
5 oF — < Rl
~ = SR
= A 30 LY
- < =
oF "0 _ 3 S
o 5 ior KT %
3 Kq 30 oy H °© =
= <k Of % RO~ = Ee)
_ = = ol o 15|35 £
R0 _ %0 o1 o = | M
23 e Qe S
_|
1

26,000




of
i’
oF
uJ

0
£l

-

0
51
oK

1

13
S
= Ol o
0 &0 &0
EIEdEd
T Y 10y
=< 0K O

= A
=
£kl

S8
= 2|8 2|8 = lglg ° 8 8 g
_J_u A A A o|e I IS ) > S
KD 4|4 S S g
G
D
8
i 218 2|8 s lglg g8 | [ I°
— ™| ™ S > - -
_._._wwrﬁ SIS =) © [~ —
%
RIS
S 8 8 8 88 88188 8|8
< = 8 ® S5 B8 C 8m,m, 888 E|IE|IEEE8EEEEIEEEIE EES
- S oSS 3SlIea23SSlsS3lE S 28
3 g88|g88|8 g88
e
S
TR T BT
T 8 T §¢8 % ¥y ¢ i B s 3 g
or 5 g8 & ¥4 o ® ® w o ol xo% *
S i ] o o
| 2.5 ¢ 5E §|| & & S8 8| 5 z|@ 5
o o - IK - ~ | = -
m | ER 8 =< B | § S g8 %8| | g8 =3 o g
) Pe = m 8= w”? i <3
< woor s 00 o w0 &
[ 2P o= n il B = i
= o s s T iy — - o
s & o o B i 5 = oF _|m M_
m HrA ﬂ = 7 ol o _H_._ =
=l S8 5 w7 || Bel| 2B 2| LR
= nom g9 m - 2 |5 5 ® TS E: = gl
oF wom AR gl wEs |5 5 Yao w2 D 2
ol o @ & wo |mirE L% % $2T |5y s GIR 7 Al
s owm o« 9 1Bz an | A T L B b . i
zr | A D R . R I YN T A B e =V T bl e B ok o
7 (2w om0 o0 oow D8 wnm BEw oown |5 wl < o 5 o
R |y & W oW ko |BEar |y 23 Wiz W Wiy e W
. 5] ol |®0 ol ol = |= o S =0 W I I el ) bl A0
+[5° © © © 00 |51-00 |5|50 A I N Y L =< < o
ol — Q| = I — —
I @ <° i g5 78 7§ S 5 ©
a1




